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BAL G F 5 S, =3x 220° x+/0.8° +0.5° =136.98KVA

M oo % P (PF) 3 pF_cos[Tan %} 0.848 (7% 1%)

|+
o~
i
Rk

2B~ = F B http://www. public. com. tw




NBNE REEGERE(1050 T )
= ?] 25 - BEHPBELRLGE KL BY FHE T T A 60HZz 0 58 X=0. 4m1§;$sal R E
FPg=080=% &'VBin c b HFETHP TRIE[=18  #HFHFE H5 - #Fmr (D)

Evs o PR THX, =X, =10 » @ UEEETRLV 210 ¢ e E R s e - B
g -

OB J k Sende e 2 5N (SwingEquaTim) ’ <5A"\>
D T T R 2 = A - ;—Lu/]; i A ,g * G fRiER B0k RS
TR EEs e (154)

{""(
JX

L

2
[#%]
OP = 18x1 sing =1.286sin &
1.0+0.4
P #H4> #2578 (SwingEquation) 3
2 2
2XSd 5( ) =0.8-1.286sin0 = 10 d 55 ) =0.8-1.286sin o
377 dt? 377 dt

()% 1.286xsin5 =0.8=>sin s =% —0.622 = & =38.47° = 38.47 x—*— = 0.6714rad
8, =Cos™[(7-25,)sin5, —cosd, |
=Cos ™[ (7 —2x0.6714)sin 38.47° —c0s38.47° | =70.36°

(o] 0 T
4H (5, -5,) 4x5x(70.36° ~38.47°)x -

At = = 0 —0.1925
P, 377x0.8

Z B3z ApR A Y s AR ddaipd L Hipdae (SLG) ERFw o Fawm kB E T
o wRipR BRAEF R L0 %R FraMBT e v o (5104 10 4> 2 20

A)

O NP ERT TR SRR

i i

Busl -~ ~ Bus3 Bus 4 Bus 2

X@@_F—gg I = SLG>I<%§—__|_“@\@;X\

GI1, 100 MVA,  Tr.1, 100 MVA,  X,=0.15 pu Tr.2, 100 MVA, G2, 100 MVA,

20kV 20kV/345kV  X,=0.15 pu 345 kV/20 kV 20kV
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wiy = X = (0.2+0.08+0.15)//(0.08+0.2) = 0.43//0.28 = 0.1696

oy = (0.15+0.04+0.08+0.5)//(0.04+0.08+0.15) = 0.77//0.27 = 0.1999
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O §1: P, =2MW;Q, =2M xtan| Cos "0.85 | =1.239MVAR
f2: P=1IMW;Q, =0
f43: P,=08MW;Q,=0.6MVAR
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P. =2M +1M +0.8M =3.8MW
Q, =1.239M +0.6M =1.839MVAR
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Q =3.8M xtan[ Cos™0.95] =1.249MAR
Q. =1.839M —1.249M = 0.59MVAR
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